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1. #SFH 89,590,498 134,685,508
4) 7|ef 3 34,268
6) olXlg= 26,969,170 38,688,728
7) Olx| 248 62,587,060 95,996,780
2. HRSFA 0 0
g & A 89,590,498 134,685,508
1. A2 120,000,000,000 120,000,000,000
1) BEFA2F 40,000,000,000 40,000,000,000
2) ERFXEF 80,000,000,000 80,000,000,000
2. Yoz 0 0
3. XE2xd -596,687,250 -596,687,250
1) FAlgoldal Xtz -596,687,250 -596,687,250
4. 7|EfEZEQ =AY 0 0
5. o|dAoiZ(E&F) 753,433,029 —344,775,095
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(&t - &J)

ESVIN G () Sk SAIXI
NESEA S+ YRS 525-92| 32X 636.7 4,634,491 2,502,837
NESSEA &=+ &= 691-32 12X 701.3 4,039,563 2,705,615
NESEAl 2=+ 00t 3214 396.7 3,265,561 1,802,605
NESSEA 28+ xS 22143 2/ 12X 385.5 3,069,373 1,298,750
NESEAl O+ diks 611-11 231.0 1,988,369 1,363,131
NESEAl OtE HES 5-57 2/ 12X 491.0 4,428,298 2,892,851
NESEEAl 2=+ 0I0ts 374-112] 228X 745.4 5,198,005 3,499,654
NESSEA| 2t ME s 234-202] 12X 291.0 2,103,676 1,318,230
NESSEA Z2A7 LIS 70172 12X 727.4 10,440,210 4,833,574
NMESEEAl 02+ HEES 50440 336.5 4,003,495 2,113,873
NESEEAl 02+ HES 2409 398.4 7,098,269 3,679,622
NEEEAl 02+ Mus 470-32 498.2 6,846,372 3,135,173
NESEAl =37 aAHIS 1125, 1002-1 825.0 4,843,264 3,088,254
NESEA SU2+ Hets 4564,20 909.6 9,273,335 3,965,856
NESEEAl 0E+ MS 4606 405.0 6,262,039 3,033,855
NESEAl 211 AES 1560-17,18 425.0 2,968,041 1,798,534
NESSEA S22+ BES 281-32] 142X 13,426.0 22,087,036 20,772,623
25l 21,829.7| 102,549,397 64,405,037
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